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Read the following passage and answer
the Question Nos. 1 to 6 given below :

Chemical pesticides lose their role in
sustainable agriculture if the pests evolve
resistance. The evolution of the pesticide
resistance is simply natural selection in
action. It is almost certain to occur when
vast numbers of a genetically variable
population are killed. One or a few
individuals may be unusually resistant
(perhaps because they possess an enzyme
that can detoxify the pesticide). If the
pesticide is applied repeatedly, each
successive generation of the pest will
contain a larger proportion of resistant
individuals. Pests typically have a high
intrinsic rate of reproduction; and so a t"evi:

individuals in one generation may give rise

s TN\

to hundreds or thousands in the naa'{:\pnd “

resistance spreads very rapi w¥in a

\ J

\ \/
N {\ s

t ™
This problem, wa#’ often ignored in

o, cven thouighthe st cae

population.

\

iﬁhanﬁ;trichlnmethane] resistance
3

| as early as 1946. There is an

the number of

0

ial Ancrease in

which resistance has evolved. Resistance
has been recorded in every family of
arthropod pests (including dipterans such as
mosquitoes and house flies, as well as
beetles, moths, wasps, fleas, lice and mites)
as well as in weeds and plant pathogens.
Take the Alabama leaf worm, a moth pest of
cotton, as an example. It has developed
resistance in one or more regions of the
world to aldrin, DDT, dieldrin, endrin,
lindane and toxaphene.

' 4
If chemgsféj""; pesticides  brought

nothing but gﬁtﬂéﬁls. — if their use was
intrinsically, and acutely unsustainable —
then th o wollld already have fallen out of
éd\ehf;rea\a use. This has not happened.
Instead, their rate of production has
increased rapidly. The ratio of cost to benefit
for the individual agricultural producer has
remained in favour of pesticide use. In the
USA, insecticides have been estimated to
benefit the agricultural products to the tune
of around $5 for every $1 spent.

Moreover, in many poorer countries,
the prospect of imminent mass starvation,
or of an epidemic disease, are so frightening
that the social and health costs of using

[ A

pesticides have to be ignored. In general, the
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use of pesticides is justified by objective
measures such as ‘lives saved’, ‘economic
efficiency of food production” and ‘total food
produced’. In these very fundamental
senses, their use may be described as
sustainable. In practice, sustainability
depends on continually developing new
pesticides that keep at least one step ahead
of the pests — pesticides that are less
persistent, biodegradable and more

accurately targeted at the pests.

1. “The evolution of the pesticide
resistance is simply natural selection
in action.” What does it actually
imply ?

(a) It is very natural for many

organisms to have pesticide

(b) Pesticide resistance nn;gnh,g 1%

organisms is a g);:;vﬂ'sal
phenomenon, ( \“\

(c) Some mdmdua_ls\@ any given
Powlaﬂm show Yesistance after

;‘/ \ﬁlg ,npph cation of pesticides.

. fw Eﬂ]/‘l{m of the

iy and (c) given above is correct.

the statements (a), (b)

/

;v .}Z\ l'
u,{
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With reference to the passage,
consider the following statements :

1. Use of chemical pesticides has
become imperative in all the poor
countries of the world.

2, Chemical pesticides should not
have any role in sustainable
agriculture.

3. Ome pest can develop resistance
to many pesticides.

Which of the statements given above
is/are correct 7

(a) land 2 only
(b} 3 only .t;\':,'ﬁ ’
(© 1apAghnly
@\, 2and 3

' A

Though the problems associated with
the use of chemical pesticides is
known for a leng time, their
widespread use has not waned. Why ?

(a) Alternatives to chemical
pesticides do not exist at all.

(b) New pesticides are not invented
at all.

(e¢) Pesticides are biodegradable.

(d) None of the statements (a), (b)
and (c) given above is correct.

T ————
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How do pesticides act as agents for the
selection of resistant individuals in
any pest population ?

1. It is possible that in a pest
population the individuals will
behave differently due to their
genetic makeup.

2. Pests do possess the ability to
detoxify the pesticides.

3. Evolution of pesticide resistance
is equally distributed in the pest
population.

Which of the statements given above
is/are correct ?

(a) 1only

(b) 1and 2 only

() 3only

(d) 1,2and3

Why is the use of chemical pesticides

generally justified by giving the

examples of poor and developing

countries ?

1. Developed countries can afford to
do away with use of pesticides by
adapting to organie farming, but

it is imperative for poor and |
developing countries to , use]

2. In poor ﬂ.ﬂﬂ dm!oping Co ~
the pesticide addrefses

problem of epidemic/diseases of
crops and eases problem.
th costs of

generally

and developing

(A

- 4)

6. What does the passage imply ?

(a) Alternative options to chemical
pesticides should be promoted.

{b) Too much use of chemicals is not
good for the ecosystem.

(¢} There iz no scope for the
improvement of pesticides and
making their use sustainable.

{d) Both the statements (a) and (b)
above are correct,

Rendﬂefoﬂuwing sage and answer
the Question Nou. 0.8 given below :

Educ&tm nut a doubt, has an
1 nnl, instrumental and

ut:htan ion. This is revealed when

estions such as ‘what is the
p-@m‘ education?. The answers, too
ften, are ‘to acquire qualifications for
loyment/upward mobility’, ‘wider/higher

" (i1l terms of income) opportunities’, and ‘to

meet the needs for trained human power in
diverse fields for national development'. But
in its deepest sense education is not
instrumentalist. That is to say, it is not to
be justified outside of itself because it leads
to the acquisition of formal skills or of
attributes. It must be respected in itself,
Education is thus not a commeodity to be
acquired or possessed and then used, but a
process of inestimable importance to
individuals and society, although it can and




does have enormous use value. Education
then, is a process of expansion and
canversion, not in the sense of conversion —
turning students into doctors or engineers,
but the widening and turning out of the
mind — the creation, sustenance and
development of self-critical awareness and
independence of thought. It is an inner
process of moral-intellectual development.

7. What do you understand by the
‘instrumentalist’ view of education ?

(a) Education is functional and
utilitarian in its purposes.

(b) Education is meant to fulfil
human needs.

(¢) The purpose of education is to
train the human intellect.

(d) Education is meant to achieve
moral development.

8. According to the passage, edmat:on 14
must be respected in itself becau§ 5\

(a) it helps to acquire qunlliﬁ?.ﬁ\ms
for employment.

g . upwg.}%]ﬂlty and

7-

(A=

9. Education is a process in which
(a) students are converted into

trained professionals.

(b) opportunities for higher income
are generated.

(e} qualifications for upward
mobility are acquired.

(d) individuals develop selficritical
awareness and independence of
thought.

Read the following passage and answer
the Question Nos. 10 to 12 given below :

The first step is for realize that
a city need not be a fmat@% of life; it can
be among other thi %) a”mechanism for
enhancing life, for ijmg possibilities of
living which (ufﬁ ’to be realized except
through cifies, But, for that to happen,

deliberate and drastic planning is needed.
Towns, &5 much as animals, must have their

¢

meg@ of brgans — those for transport and
{via?uhltinn are an obvious example. What
‘we need now are organ systems for
recreation, leisure, culture, community
expression. This means abundance of open
space, easy access to unspoilt nature, beauty
in parks and in fine buildings, gymnasia
and swimming baths and recreation
grounds in plenty, central spaces for
celebrations and demonstrations, halls for
citizens' meetings, concert halls and

| theatres and cinemas that belong to the city.

And the buildings must not be built anyhow

5)




urdumpeddmnmwhare,haththeymd
their groupings should mean something
important to the people of the place.

10. The author talks about “unspoilt
nature”. In what way can nature
remain unspoilt ?

(a) If nature is not allowed to
interfere with people’s day-to-day
life.

(b) By building cities with the
system of organs like those of
animals.

(¢) By allowing free access to parks
and open spaces.

(d) By allowing nature to retain its
primitive, undomesticated
character.

11. Which one of the following has the
opposite meaning to the word
‘frustrater’ in the passage 7
{a) Promoter
{b) Applauder
(¢) Approver A
(d) Executor . m\

12. “.. the buildings must not \gﬁut
anyhuw or dumped do

" “The mtamen{. ;% t.hat

buildings
(a) should be \u&i}“with suitable
material., ™

oul mmﬂﬂad according
e suitable design, not

13. Choose the word which is the exact
opposite of the word “ABLE".

(a) Disable
(b) Inable
(¢) Unable
(d) Misable

Directions for Question Nos. 14 and 15 ;

Give the Opposite meaning of the underlined
word.

14. Though hl\(?ﬂ is correct, his

behavio 1 ,:.' 35

s \H:J inadequate

impertinent.

{d) smooth

)

15. The manager is quite tactful and
handles the workers union very
effectively.

disciplined
loose

(a)
(b)
(e) strict

naive




Directions for Question Nos. 16 to 18 :

Find out the appropriate meaning of the
given word from the choices given below it.

18. Chattel

(a) Movable personal possession
(b) Barrister's wig

(e) Obligation

(d) Piece of land

17. Subpoena
(a) Punishment
(b) Delay

{¢) Summons

(d) Ban

Directions for Question Nos. 19 and 20 :
Choose the most appropriate option.

19. lunch

Did you have
yesterday 7

(a) No, I haven't.
(b) No, I hadn't.
(e} No,Ididn't.

(d) No, Idon't,

at  home

Where do you live ?

{a) At 45 Green Street, London.
(b) On 45 Green Street, London.
(e} In 45 Green Street, London.
(d) From 45 Green Street, London.

9

Dimctmn.ﬁ:r@uatmn}v gltmdﬂﬂ:

Which of phrases gme, ‘9w each sentence
shﬂufd rz;:!ace the ined phrase to

{‘? correct ¢ If the
sﬂm-ncem roct it is, mark ‘D' as the
m%mmmﬂfm taller than

es

not as tall but
;\‘ (I::]I not so tall but as
/ (¢) as tall as, if not
(d) No correction required

They examined both the samples
very carefully but failed to detect
any difference in them.

(a) any difference between

(b) some difference between

(e) some difference in

(d} No correetion required
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Directions for Question Nos. 46 to 48:

Each question presents a situation and asks

you to make a judgment regarding that
particular situation. Choose an answer
based on the given information.

46. The School Principal has received
complaints from parents about
bullying in the school yard during
recess. He wants to investigate and
end this situation as soon as possible,
g0 he has asked the recess aides to
watch closely. Which situation should
report to the

the recess aides

Principal 7

{a) A girl is sitting glumly on a bench
/

reading book and
interacting with her peers.

(b) Four girls are fag@&nding
another girl ang“\éém to have
possession of hq;lhﬁék pack.

ey, bggs"‘ are playing a
V4 S [V / 3

¥ N\ 5\;}/ »1,'0%311& game of basketball
\ \ /’/ aﬁ&;&;v’ arguing over the last
Va \‘ba:ﬂ%ét scored.

S /
’

/’fh'{ee boys are huddled over a
handheld videogame, which isn't
supposed to be on the school

grounds.

SCs-2
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#fs8 av § 33 FB-3m W
& 75, 7 fa vgm e =
&t J& wdier |

(b)

(e)

(d)

(A -14)




47.

Ms. Carson took a taxi to meet her
three friends for lunch. They were
waiting for her outside the restaurant
when she pulled up in the car. She
was so excited to see her friends that
she left her bag in the taxi. As the taxi
pulled away, she and her friends took
notice of the number plate so they
would be able to identify the car when
they call the taxi company.

1. The four women seem to agree
that the number plate starts out

with the letter J.

2. Three of them agree that the
number plate ends with 12L.

3. Three of them think that the

second letter is X, and a different !
three think that the third letter is |

K
\
The four number platés,  below
represent what each wf the four
: ich one is
r plate of the

{A-15)

47. fim Fans & »iudh s maghr

& g9 3 fuse ot 2ot it | 72
§a St few €9 uddt 37 Gmede
¥ w9 Grdh wmadhyi G
8ffg a8 d w7 | BT nuEier
At § 29 7 et 83ff3 @ ol
fa Tt few mye 83 & ¥8
adt | we et o ot ft, € w3
Sndtr ISt B St © a9
yBe 3 =fimr 37 7 2ot &t quat
% oie & St &t uge T AR |
1, T4 n»igg fem I8 3 AioH3
75 fa &Sz whg J 3 B9
JL 3
\&ug uSe 2 mflg few 121
s BF o3 f3s Aedtm® T3 fa
o wyg X T niEF qdhof
95 Aedm g5 fa It »iwg
KJ |
Fgent I8 7 fa J97 &9 99 &=
wazg & AY wighg ofmr | feg
fed faot &99 ude, eart &t duw
e e dArsISwATEs 32

(a) JXK 12L
(b) JYK 12L
(c) JXK121
(d) JXX 12L



48. Naveen, an accomplished pastry chef
who is well-known for his artistic and
exquisite wedding cakes, opened a
bakery one year ago and is surprised
that his business has been so slow. A
consultant he hired to conduct market
research has reported that the local
population doesn’t think of his shop as
one they would visit on a daily basis
but rather a place they'd visit if they
were celebrating a special occasion.
Which of the following strategies
should Naveen employ to increase his
daily business 7
(a) Making coupons available that

entitle the coupon holder to
receive a 25% discount on
wedding, anniversary, or
birthday cakes.

(b) Exhibiting at the next Bridal
Expo and having pieces of one of
his wedding cakes available for
tasting.

(c) Placing a series of ads in the localy
newspaper that advertise the

wide array of breads.

(d) Moving the bakery to the_dther
side of town.

¥

Directions for Question Nes. 49 to 52 :
Eagh-question Cﬁrﬁ&iﬁ{;‘}i"ﬂf fwo words which

JMavea “ce in_ reldtionship to each other

“Select . the pair

Mﬁy yu}';r pairs of related words.
' 4 " awhich has the same
t of the words given in the

Nt Ll’l Common : Ghostly

/ (b) Worldly : Unworldly
{e) Routine : Novel
{d) Secular: Clerical

YRE 3. 49 T 52 & B geeTT:
JT yHs & e T glewr Jfewr §,
fHaT € W e HEg | 87 F gone
fev 87 751 ¢ famer yms few 153
HEeT 5T HEg Je /
49. Bfax: goat

(a) FUEE: F3-UI At

(b) fenr= . nizefonrat

() &5 &=

(d) ToHfesy : yedt a7 Hefgz

SCS-2 (A-18)



50. Filter : Water 50, femes . ust
I (@) C il : Activity (a) Wz FIET : AH
(b) Expunge : ke %
: i (b) Fe= : faz=
fe) Edit: Text
(d) Censor : Play (€) WUSS : U3
@) AT 395 : 524
I . Symphony : Composer
| =5 51. 3357 : Hafl3aS
(a) Leonardo : Music
(b) Fresco: Painter (@ fBEETs : Al
(¢) Colours; Pallet () Ta’%ﬂﬁ' B CEGE A
(d) Art : Appreciation (¢) Tar e Jar &t A
(d) TG YHAT
52. Diva:Opera ” 9
(a) Producer : Theatre 52. W arfear ; fi3we
(b) Director : Drama (a) fh?f’% E'EHHW%ZH
(¢) Thespian : Play : v — Lane
| (d) Conductor : Bus o nifd Ak -
- | U\ dSaET : §H
53. Find the missing number in the \|
following series. ~ Y} ~ s
(a) 19660 N} 1, 6, 36, 240, 1960, 2
(b) 3680 W\ (a) 19660
4 (b) 3680
(c) 36800
(d) 19600

54. Wiyt &t wFt F ugE w3 IS
fafumtt feg arfew »ivd 39 |
AZY, BUT, CXW, DWV, 2
(a) EVU
(b) BVU

(e} EWV
“d) EWX

(A=-17)
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556.

57.

W

SCS-2

£% b
b+e c+a
them is equal to

If

h , then each of

=
a-+

(a) (a+b+e)?

1
b =
(h) 7
e} 0
i
(d) E

Two trains are moving in the same
direction. A person in the slower train
observes the faster train pass him in
25 seconds. And a person in the faster
train observes the slower train pass in
40 seconds. What is the ratio of the
lengths of the slower train to that of
the faster one ?

(a) 4:5
(b) 8:5
() 6:5
(d) 325

There are 4 women and 4 men. They

‘"-m% BQ arranged around a circular
“‘taBiﬁ B&c!i that no two women sit

d tﬁgathmﬂov many ways are there to

/ perﬁ:lrm the work ?
(a) 876

Wb 144

(e) T2
(d) None of these

57.

(A-18)

= A b . :
b+e c+a a+bh’ e
feq goag J=ar
(a) (a+b+ch
1
e
{ 4
) O
1
d -
s 2
T 98 dm fea fogr fem &=

Fit g5 | Fot 9B T ft &8
feg 8fonr vt e & 5 39
s TE Y | w3 W T8 T fem
& wroift dwer § f1 3 vs
sl ¥ dEt 40 AfdE few Bt
) T vs ot I & Bt
I ¥ Tt ot & St s
»Eyg oft I 7

(a)
(b)

e
(d)

$ 98 W 2 wS-oas fem 39
fazger 3 3 fa 3 2 wlesf
feagtft &7 fz= | femw @ & 9=
e fds 3dta a5 2

(a) 576

(b) 144

(c) 72
d) ot & &

4:5
B:5
6:5
3:5




58.

6 friends are playing & card gam
Ram is to the left of Aman and to the
right of Pranav. Aman is to the left of
Dheeraj. If Yognm and Dheeraj
interchange their places and so do
Pranav and Ram, then who will be
sitting to the left of Dheeraj ?

(a) Ram
(b) Sunil
(¢) Pranav
(d) Yogesh

Two students appeared in an
examination. One of them secured
9 marks more than the other and his
marks were 56% of the sum of their
marks. What are the marks obtained
by them ?

(a) 432,33

(b) 42, 36

(e) 44, 33

(d) 44,36

58. 6 SF3 I'H US 94 I3 | HAS wE

g feq gd @ WIH-FIHE T3 |
TH, MHE TR YR I W3 B R
W OUR | wis, few € ¥E R
3 | f5 Gam w3 ded nmEh
g wun few wos 8 o3 fen
3gt = M3 TH &, I dlew 2
¥y R 3= 8% I ?

(a) TH

(b) FIB

(e) Y=
(d) TR

l{waﬂiwﬁnewﬁaémw

Bt fu9t € 93 T s6% W | B

(a) 42,33
(b) 42,36
(c) 44,33
(d) 44, 36

2 Sffeea’ € Se-waud feu fem
§ o5 mdt T fed 559 2 Y3
Tt | 20% @ WSt & OFS |
J=9 95 T 7500 WS, 3T THS
flees § fddhy wft I
fugnr 2
(a) 2800
(b) 2700

{c) 2100
d) 2500



61. John and Dani go for an interview for
two vacancies. The probability for the

selection of John is %. whereas the
probability for the selection of Dani is
é—. What is the probability that none
of them are selected ?

(a)

(b)

(c)

(d)

N oo B i

A and B entered into a partnership
investing ® 16,000 and = 12,000
respectively. After 3 months, A
withdrew ¥ 5,000 while B invested
¥ 5,000 more. After 3 more months, C
joins the business with a eapital of 4
¥ 21,000. The share of B exceeds that
of C, out of a total profit of = 26,4@
after one year, by
(a) ¥ 3,200 W\
(b) = 3,400 N
(e) = 3,600 0N

(d) = 8,800 \| ¥

\ §

A family consists of twe grandparents,
two parents and. fy:‘ée grandchildren.

‘The- average d&uf the grandparents

L3

ea at of the parents is
ard and that of the grandchildren
: What is the average age of

(d) None of these
SCs-2

61.

62,

[A-20)

76 w3 FE T wE nrrmdeg
fézaﬁ@aﬁarélﬂaéa%m
@ A L § w3 sdt & 5@
e A e Ly Rt
afa%ﬂe&sﬁﬁa'w&ﬂ
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=
e

g
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65. [__ = %) is added to a number. From

; T
ot':m

the sum so ‘obtained, %
subtracted and the remainder is
(1 ]m:tmbarm

3 4
(a) =
1
® - \ ¢
©) % \¢-
2 U
@ \é_,
s that Lisa
and ‘Tom can do in
would the job take if

(a) 24
(b) 27
(c) 40
(d) 30

fba%aafe%[—--]fr&'ww
¥ | fom 3 feg L

g 3 w3 ;i(f_q,_
Ea}/@@

o3

(ed

R E A

(d)

a9 AH feg a0 § 4 fost feg @
naer 3, GF & S 6 fon’ fem =@
Fat & w3 3y Bnd 2 fo fem
& AT I | @ § YT 995 BH
fasr wvt Sar § AW, St w3
2y feds o g9 ?

(a) 08fe3

(b) 1.00fE3

) 123fes
d) 1.65fes



Directions for Question Nos. 67 to 70
Amhmihasﬁmr-gmﬁunaﬂ. B, C and D of
Class IX students.

The results of half-yearly and annual
examinations are shown in the table given
below :

Number of students
Result
Eﬂﬁm&cﬁunlﬂﬂﬁun%minn‘
A B C D
Students failed in
Exa 28 23 17 27
tudents failed in
-yearly but
in Annual o 12 ; 13
XAMS
dents passed
in half-yearly but
falled in Annyal 8 17 a9 15
Exams
Students passed
bt B 64 | 55| 48 | 76,
W\
-2

67. How many students \are \there in
Class IX in the school 7., \*
336 W\

(a)

(¢) Seetion C
(d) Section D

SCs-2

T

YuE 3. 67 370 & B g

IS 1841 712 few frem famwr 3
| fefenrading & faresh
A B C D
am. -
m |28 | 28 | 17 | 27
;.{if‘f? 12 8 13
(] 17 ) 15
64 55 46 76

67. 738 fev X (&) a3 fem iy
fefemradt o5 »

fa) 336

(b) 189

(¢) 335

(d) 430

c foufsost fed famr fom fig
faos faws & uw yfows 79 3
I

(a) FHE A

) AaEs B

(¢) FEHS C

(d) AaWa D

(A -22)




SRS

~ mark?

Which section has the maximum
success rate in annual examination ?
(a) Section A

(b} Section B

(¢) SectionC

(d) SectionD

Which section has the minimum
failure rate in half-yearly
examination ?

(a) Section A

(b) Section B

(e} SectionC

{(d) SectionD

If A + B means A is the brother of B;
A — B means A is the sister of B and
A x B means A is the father of B.
Which of the following means that C is
the son of M ?

(a) M=-NxC+F

(by F-C+NxM

fey N+M-FxC

(d) MxN-C+F

Find the missing number :

112, 111, 119, 92, 156, 31,,_‘3# j
245 \
247 '
241

249

(a)
(b)
(e)
(d)

' iich number "re'pllge'es the question

e
£]

1728

126

2744 B2l ?

5&'.
-~

69.

70.

71'

73.

03 fams & wEw foufsos
few aHerHt Tg AE T ST J 2

(a) FIHS A

(b) FaWE B

(¢) FEEE C

(d) AaH& D

faos fams &t ferdt fedfzos
feg es, JeafteamE Iuc I ?
(a) HaHB A
(b) PASHG B
(e) FIHS C
(d) FaHa D

F99 A+ B T wgE T f3 A,
97 3, A-B ¥ 9@E J a A,
e T3 AxBE ngg 3 fa
e fizr § (0% fou 3 RS
To@E e MET YT A ?
(a) /MSNxC+F
M \F=C+NxM
(¢) N+M-FxC
() MxN-C+F

arfeg (fufidar) d=g9 &9 |

112, 111, 119, 92, 156, 31, _2_
245

Ir e

(a)
(b)
(e)
(d)

512 ?

(A -23)

41
36

(a)
(b)
(e}

(d) 35



74.

75.

76.

In a caravan, in addition to 50 hens,
there are 45 goats and 8 camels with
some keepers. If the total number of
feet be 224 more than the number of
heads in the caravan, the number of
keepers is

(a) b

(b) 8

(e) 10

{d) 15

In a certain code language, ‘3a, 2b, 7¢'
means ‘Truth is eternal’; “Te, 9¢, 8b, 3a’
means ‘Enmity is not etermal’ and
‘Oa, 4d, 2b, 8b' means “Truth does not
perish’. Which of the following means
‘enmity’ in the code language ?

{a) 3a

tb) Te

{e) 9c

(d) 9a

Consider the directions :
Mr. A, Ms. B, Mr. C'nr@Ms D are

sitting around a tahle s,mi discussing
their trades :

e ddr. A sits.gppesite to the Cook.

2> E, B sifs on the right of the
\ "I:Ii;i'.

A V4
o

SCs-2

3, The.Waskierman is to the left of
. e Tﬂﬂur

. MB S)s:ta opposite to Mr. C.

" 4

Mﬁt arethetradasuf&andﬂ‘?
,{’aJ Tailor and Barber

(b) Tailor and Cook

(c} Barber and Cook

(d) Washerman and Cook

74. feg Fas fev 50 waefer 3 feme

75.

TG,

(A-24)

45 Hdiwt, 8 ©5 AHI FT U
T3 | Aag g8 gt & Afir, et
feg fag’ & faret 3 224 farer
J2 I quyefewt <t faredt &
(a) &
(b) 8
¢) 10
(d) 15
far @@ @ 29, Ga, 2b, 7 ¥
HISH d *Truth is eternal’; “Tc, 9¢, 8b,
38" € HIBY J ‘Enmity is not
eternal’ ™3{9a, 4d, 2b, 8b’ T HIBY
3 ‘Trut.hdoes not perish’ | I5 foy
feg fan o7 HIBY 3 I few
enmh.v a2

da
dj\?n
{c) Bec
{d) 9a
Mr. A, Ms. B, Mr.C %3 Ms. D feq
s € wE-oMs €5 I5 w3
wuE UH AUt 9997 99 99 I5 -
1. Mr. A Y=gl € HAIHS

(opposite) 53T T |
2. Ms.B &Y @ Aa 931 F |

3. Oft, eodfteue |

4. Ms. D, Mr. C € FAIHS
[uppnuite}ﬁ'iﬂ'al

AMSBE faaa g o5 ?
(a) Ta«t w2 &t

(b) TFH W3 gEad!

(¢) BE W3 g=adt

(@ Tt 3 g=adft



77.

At what time, in minutes, between
3 o'clock and 4 o'clock, will both the
hands of a clock coincide with each
other ?

1
53— 3
(a) T min. past

4

(b) IEH min. past 3

4
13— 3
(e) T min. past

(d) lﬁﬁ min. past 3

A man swimming in a stream which
ﬂowsatﬂé km/hr, finds that in a

given time he can swim twice as far
with the stream as he can against it.
At what rate does he swim ?

(a) m% e

(b) ﬁ%-im'hr

(© m'% km/hr

@ 82 kmmr ™

\!

2 | ®

If 3% =4Y =12", then zis equal ¥~
(a) 1

(e) 1,2,3

(d 2,81
SCS-2

V4

(A-25)

f35s w3 99 =7 ¢ f&ga9, fam Al
(fifet fem) <6 meti fim w2
e 2

1 n -
(a) 51—11517:3@#%
(b) 1211‘11'63#&
(c) 13—ﬁ¢as'-:;r%

4 f C
(d) 1511 3@

feg vt &t fog 39 foor 9,
fot fu 3% fagfteanter &
RIS EE e oft 3 | fx 63 &
fog o<t @ 22 75 TR gt
%'Hna?’&»i@ahnaﬁﬁm
[a’}.v\'}{’.%‘ fastegniz
Wb) E—;— fa&tegnier
(©) m%faﬁ'l-ﬁzanﬁ?
) s% fadftegniar

H3=4"=12", I 2 9 HT T
fa) 1
m X

(d) xy

foar famir 1176 =2P. 39,77 T I p,
q‘?@r#ﬁh-?j;ﬁa’

(m) 2,18

(b) 8,1,2

(€ 1,23

(d 231



ﬂﬂwaﬁ#* ICES || 33%:
(CHAE) afees & -

Gore. Hie & .
o'H : -
fuzr = & . ““m‘;ﬁ"

DD YYYY

o il - LI A
WTW:ED[*MEWQQEQW}
Eftesg € onawe . (T8 YHa : 80)
(fer o 3% s Twansg ) (fogrfes 1t : 2:00u2)

1. fesfeften 2 afoe 3= fomyes e § Qftews o wifew wr | fom mijans fogr a?fsaf%gﬂ
fudz T 2 Fay & T & T92 | %’Lﬂ?@aﬁnmﬁwmrﬂ?##ﬂaé‘ai a:‘?t%
Hifos a8 (yes € forue Fedt ey 2 ;ﬂiarr'é:ﬁ

2 eI A _WWHE’T‘%’E‘%?HB‘ 7 T w5 nfgededt =8 | wfre Uz & @59 &= =
G.ra. forum Hiz Que ferdrs 59 | it oo Us O @R e fom &8 Otess 48 & readl

w2t afss

Sfers 38 Gug & raw w Gaininrs, fone iz 3 R gur ugati &0 3% 3 O ydiEs
qsﬂaﬂﬁ:@ﬂﬂifuaﬂrﬁw;ﬁﬂwﬂl

7% Shifieee 28 Quias a=v Tgg 79 W wiF reye hees w3 ft 3 e )
ﬁ&ﬂ?@ﬁiﬂﬂqﬂﬂm_ FIIT | FEE R mm@-ﬂmﬁmﬁmawmﬁrml

245 o

G.oni.nre. Sfieest § @ 38 3 54 Teafier
6 g-ﬂm#nﬂﬁqmﬁ%ﬁﬁgﬁﬁﬁuﬂ?aﬂmﬂﬂh mﬂnwa‘iw&ﬁrﬂewa
WH e, T Bl 59 YIS USlE 3 Heiy sy e fafur TR Tondnrg, famue B e fem
@Hhﬂwgwméaﬁ?wmﬂ|m 95 & Afedl f&g Gifives
T de #iE W ‘ﬁw%‘n@ﬁﬁ;w mm?wﬁﬂmwmwma:ﬂﬂ

4,

ﬁaé ; i e Has e W Y T ﬂmfaaaaﬁzfﬂ =R a?s &
wﬁﬁv?‘mﬁﬁmmaﬁmr?mﬁﬁlﬁ I{%’%ﬂ ﬁ?

Exﬁ?'ﬁﬁaﬁmﬁ.ﬁmw.méﬁﬁﬁamﬁimm

11. 79 peE ¥ R 70 ofx »Ees wdt vla yHR s U

12. 3t Eafee wafdar 597 & o
13. 58 yHs Tt 99 wiuEst 75 wE Sitoee 38 e el vums § Goninrae, farum die e sfaer w3

14, »ndft yataE wH fan @ mes § #e = Ja afis 38 TR |

SCs-2 (A-28)



